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o [BIHVIEERR (sales tax)

o BE: NNERIE T (value-added tax, VAT), #2
K 5%
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57
Y IR = £ EIERR REZELE
370,000 LA 6% o)
370,000-990,000 13% 25,000
990,000-1,980,000 21% 105,100
1,980,000-3,720,000 30% 283,300
3,720,000 20 = 40% 655,300

o FTIS/HEE = PTISHR%E — RBIRTE — J0FRER

o [EHIMEZE = RGP x RR - REER - REK
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o« BENIRSPTISREERER (progressive tax)

o Z2IFFIE (marginal tax rate): FTISHBIE 01 7T
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I o GRS PEEARFTEME 400,0007T, 2R
FI313%, [ERIREE/R:

400,000 X 13% — 25,900 = 26,100 7To

IR ER436.525%,
o S—BEE, FTISE378TTUUA T, BERERR
6%, PA 2 13%, N FEIIFR 2R 43:

370,000 X 6% + (400,000 — 370,000) X 13%

= 26,100 7To
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%@]*ﬁ% 2006

EEPTISR BAPTIER VAT ((5ER)
B 30% 15%—47% 10%
PN 16%-39% 20%—-49% 7%-15%
Py 15%-34.4% 5.5%-40% 2.1%-19.6%
H=R 22%-30% 10%-37% 5%
2 14.3%-27.5% 8.8%-38.3% 10%
i 68 28% 27%-60% 6%—25%
(=) 0%-25% 6%—-40% 5%
= 0%-30% 10%-40% 17.5%
= 15%—35% 10%--40% *
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i e 2005 7 BB EMZEH T

o HIRFTHIRTEIRIET, AR BESLAREFE
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o It—HIERBLIER1974FE ML 401(k) B2 IRA
(Individual Retirement Accounts)
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e EXBARBEIEN6NWBTAETIBAZER

o EEBFEFNEME30,0007T, B A 1,8007TC
(690)

o FRFTHIZRBFES (compulsory saving)
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c w, . [1+Tr ] W,
C = (1—7)—¢ —(1—7 —0,
=i 1+1+r1 ( 7-)p1 1 [1+r1 (=) CZSP1 1
(6)
&ro=r,1\ (6) XBR—IEEN
W,
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60
AR E T RREBER,

2005, WIOFEMN 451 87T, & ¢ = 8%,
7 = 13%, EL B EHREIKR0.4787T (IR1E).
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e 2006 FEMFIXIRESI (minimum tax): E7Fl
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